SOLUTIONS – Significant Figures,Scientific Notation,Metric Prefixes Quiz 1.0

Significant Figures: (1) Find the place where the number was rounded to. (2) Count left to the last nonzero digit.
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(1a)4.010 start at the '0' and count lef

t to the '4'. Answer: 2 sig figs

(1b) 0.003 start at the '3' and count le

ft to the last nonzero... well stop! Ans

wer: 1 sig fig

(1c) 20,100 start at the '1' and

´

5

 count left to the '2'. Answer: 3 sig fi

gs

(1d) 35,000 start at the '5' and count l

eft to the '3'. Answer: 2 sig figs

(1e) 3.1010 start at the '0' and count l

eft to the '3'. Answer: 3 sig figs

´


Multiplication and Division Rule: (1) Count the significant figures. (2) Round your answer to the smaller number of sig figs.
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6.3210

(2a)  The numerator has 3 sig figs, but 

(careful here!)

53010

the denominator has only 2 sig figs. So 

the answer must be 'rounded' to 2 sig fi

gs.

Method 1 (minimal use of the calculator)

: Do th

´

´

4

3

6.32

530

1

10

10

1

e division .01192 and round to 2 sig fig

s

.012 then handle the powers of 10 divisi

on, 10 by subtracting exponents, getting

:

.01210 Now put into scientific notation 

by multiplying by 10

=

=

´

2

121

0 and dividing by 100 or 10.

1.210/101.210 Whew!

-

´=´
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Method 2 (use the EXP or EE button!): Ju

st enter...

6.32  EXP  4    530  EXP  3    which get

s 1.192452810

Now round off to 2 sig figs... 1.210 (mu

ch easier!)

¸=´
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(2b) Try Method 2: 23  EE  7    5.41  EE

  5    which gets 1.2443E14 which means.

..

1.244310 now round to 2 sig figs to get:

 1.210

´=

´´


Addition and Subtraction Rule: Find the least precise number and round the answer to the same place that number was rounded to.


[image: image5.wmf](3a) 2.034               7.214

      42.1                - 5.21 

      84.20                2.004 round t

o the 'hundredths' place to get 2.00

   128.334 round to the 'tenths' place t

o get 128.3



[image: image6.wmf](4) Area (62)(23.1) Don't forget we're s

till concerned about sig figs!
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 The math answer would be 1432.2 sq. meters. The science answer is 1400 sq. meters.

Metric Prefixes: Don’t worry. On the real quiz you’ll also get them written out for you.

Use the ‘substitution method’. Here it’s easier than the ‘unit cancellation method.’ (Don’t forget to put the answer in scientific notation with units.)
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35-32910

(5a) 400(10)410 (5b) 320(10)3.210  (5c) 

12(10)1.210

(5c) 127(10)1.2710 (5e) 56(10)5.610 (5f)

 72(10)7.210

mmm

mmm

--

-

=´=´=´

=´=´=´


_1061232417.unknown

_1061233398.unknown

_1061233978.unknown

_1061234540.unknown

_1061233884.unknown

_1061232869.unknown

_1061231609.unknown

